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UPSC CSAT

PREVIOUS YEAR QUESTIONS: DIRECTION TEST

Q1.

Q2.

Q3.

T AT ST Ueh HSeh U SHA-HEA
A TE B %X E, e A o sR uidendt 3iR g 1A
3O S E SITET AT 2, SIS qeen 2, 5 femeit <reran
2, fRr et gear €, it 5 Ref et s D F R
WA TS E | B 4t Sieh-Sieh WR dr ahteT @ 31K
CH TR AT UL SATE ITEHeH, Frefeaa
HERT-ATHHITTEE ? UPSC 2011

(@ C3RDTHETSHRWEAR |

(b) C o =X 1 T TR0 Y IR 2 |

() C R D & ™R TH-TNR T 20 fFdt T a1 gl
WEI

(@) STdEH W HE T |

Frafafaa st w famm st

A, B,C,D,ETEF B gz |

F 7itd D Tifa % 1 e, aftem o e 2 |

B Tifd E 9 % 1 e, odf & feerq €

A Tife E Tifer o 2 feredh, SR H e B

C Titd A it o 1 fopelt. g # e 21

. Difa A Tifa % 1 fee. <o A R @

T HIT- I TS Tk 3T (AT § 8 2

(@) A,C,B
(b) A,D,E
(¢) C,B,F
(d E,B,D UPSC 2014

B ot Rafa A s d & et c wi Rerfr A &
a7 &1 gRat AB 3 AC I 5 faR. iR
12 feet. €1 B 2R ¢ Tt & o= &t gaw
T (feeft, &) et €2 UPSC 2014

v A wN e

(a) 60
(b) 13
(c) 17
(d) 7

Q1.

Q2.

Q3.

DIRECTION TEST

The houses of A and B face each other one road
going north-south, A's being on the western side.
A comes out of his house, turns left, travels 5 kin,
turns right, travels 5 km to the front of D's house.
B does exactly the same and reaches the front of
C's house. In this context, which on of the
following statementsiscorrect?  UPSC 2011

(a) Cand D live on the same street.

() C's house faces south.

(¢) The houses of C and D are less than 20 km
apart.

(d) None of the above.

Consider the following statements:
There are six villages A, B, C, D, E and F.
F is 1 km to the west of D.

B is 1 km to the east of E.

A is 2 km to the north of E.

C is 1 km to the east of A.

D is 1 km to the south of A.

DFIPRERR, N P

Which three villages are in a line ?

(@) A,C,B
() A,D,E
(¢) C,B,F

(d E,B,D UPSC 2014

Location of Bis north of A and location of Cis
east of A. The distances AB and AC are S km
and 12 km respectively. The shortest distance
(in km) between the locations B and C is:
UPSC 2014

(a) 60
(b) 13
(c) 17
(d) 7

01


https://khanglobalstudies.com/

UPSC CSAT

Q 4. vfeg ok Ufead e & o= |/, fauda Q4

QS.

Qé.

fegmstt & oe=T URY w¥a €1 1 feT. &
T g gear B | fmfatea & @ w=-ar
HIT LT & ? UPSC 2015

(@) 2 T, =1 o & 918, 39 <1 o S gl 4
fore. 21

() AT, TE & 3 R, T o % 9%, e §

(¢) & M, T % 4 frdl. =il @i & e, 9eelt
R fed g1

(@) o e et e &), =it wd B |

I Safer STHIA W ferwt foig '0' & |ier T
| I-yd @t fIon # ve vEret W uedr @
3R 5 Tereit, ot gt a3 ek foig 'A' W ugwrar
%1 38 =g, 9¢ foig ‘A’ | SOR-ufye @t
fagm & fig 'B' @& Wt 21 AB W 12
freft. 21 3rar o st wrifes foig 0 &
frat e ? UPSC2016

(a) 7 Tordh.
(b) 13 R,
(c) 17 T
(@) 1 feRet,

IS SR X T T X TS <A1 T o STaf |t
TS I il ST-SFIUT Sht 3T AT YI-ufyed aht 3T
ST T RIS ST & | S eh Teh oo & E iR 1 fepel,
W g W E | I S Teeht oh Uideser Wit § et
AT TN ek, 3 fertlt. ST H, 3 foprdt, ufyemr
3R 4 forett. SRoTH oreT | ST - AN Se S He
FARTER T UX AU T HehT, Ife 8 ST RO
AR ? UPSC 2016

(a) 3 forelt. qd, foRe 2 foredt. Sfeqor
(b) 3 fordt. gd, fiRe 1 el 3w

(c) 1T 3, TR 2 foret. aftem
(@) 3 Terer. Sfeqor, fORT 1 foRel, ST

Q5.

Qé.
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Shahid and Rohit start from the same point in
opposite directions. After each 1 km, Shahid
always turns left and Rohit always turns
right. Which of the following statements is
correct ? UPSC 2015

(a) After both have travelled 2 km, the
distance between them is 4 km.

(b) They meet after each has travelled 3 km.

(¢) They meet for the first time after each
has travelled 4 km.

(d) They go on without ever meeting again.

A person climbs a hill in a straight path from
point 'O' on the ground in the direction of
north-east and reaches a point 'A' after
travelling a distance of 5 km. Then, from the
point 'A' he moves to point 'B' in the direction
of north-west. Let the distance AB be 12 km.
Now, how far is the person away from the
starting point'0'? UPSC 2016

(@) 7 Kkm

(b) 13 km
(¢) 17 km
(d) 11 Kkm

A person X was driving in a place where all
roads ran either north-south or east-west,
forming a grid. Roads are at a distance of 1 km
from each other in a parallel. He started at the
intersection of two roads, drove 3 km north, 3
km west and 4 km south. Which further route
could bring him back to his starting point, if

the same route isnotrepeated? UPSC20216

(a) (a) 3 km east, then 2 km south
(b) (b) 3 km east, then 1 km north
(c) (c)1km north, then 2 km west
(d) (d) 3 km south, then 1 km north
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Q7.

Q8.

Q9.

g SaterT 12 TeRHT. ST ot 3R, ftRT 15 fomelt. @ 7.

a & 3R, AT 19 ferrlt, afdem st 31, 31 3
15 foret. 2feror &t 37 aetar 21 a8 Ui
figafraT e ? UPSC 2016

(a) 5 fort.
(b) 9 ford.
(c) 37T
(d) 61w,

'A' 3TUH B W URY &Y U4 i ST 20HT. T,
STt 39T T 'B' S99 et Tam & =1 St
feom & 10 /Y. WTU-WTT I | THH A1 'A' ATE
3 S AT STalfeh 'B' ETTEAT 3T HS & ShHT:
21t iR 87T, wet | AT 'B' 9TE iR g W
4vit, Tt fSraeh 9are Ut qifEt T 5.
TEAHT U HIATAT Ugd AT 'A' TITEAT AT
g T 31X 12 . TeTeh 30 wEed ugd
T T HTEATA & S sl SIAAH g
fepat g ? UPSC 2019

(@) 157,
(b) 17 H.
(c) 19 H.
(d) 209

P, Q IR AT TR E | P 31 Q o sirer sl it 60
fertt, 8, Steifer P 31K R 6 oiter it it 80 feme.
21Q, PHURNEH AR 3R, P Hafaordg1Q
ARR S wgifrafiz?  UPSC 2019

(a) 140 R,
(b) 130 R,
(c) 110 fermt.
(d) 100 forH.

Q8.

Q9.
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A person walks 12 km due north, then 15
km due east, after that 19 km due west
and then 15 km due south. How far is he
from the starting point ? UPSC 2016

(@) 5Kkm
(b) 9 km
(¢) 37 km
(d) 61Kkm

'A' started from his house and walked 20 m
towards East, where his friend 13'joined him.
They together walked 10 m in the same
direction. Then 'A' turned left while 'B' turned
right and travelled 2 m and 8 m respectively.
Again 'B' turned left to travel 4 m followed by
5 m to his right to reach his office. 'A' turned
right and travelled 12 m to reach his office.
What is the shortest distance between the two
offices ? UPSC 2019

(@ 15m
(k) 17m
© 19m
@ 20m

P, Q and R are three towns. The distance
between P and Q is 60 km, whereas the
distance between P and R is 80 km. Q is in the
West of P and R is in the South of P. What is
the distance betweenQandR?  UPSC2019

(@) 140 km
() 130 km
¢ 110 km
(d 100 km

DIRECTION TEST
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Q 10. Q%Elﬁﬂ 3 B o WS | Hier 25 eI Ieidt @ 10. A man walke down the backside of his house

Q11.

2, fort o aifes Teoh ggent 50 Hiet werar 8; fme
ST YT Y 25 HieT Terdr 8 | 9y ST =
o @ U4 o AR B, A 9 U unfires g 9
frafaamde? UPSC 2020

(a) Sf&O-ge
(b) <IeTU-ufE=m
(c) I
(d) IR-UT=H

Teh Wi ST T 317 12 foptdt, Sedi 8, Rt ae
TIUT I TR TS 6 TehHT. TUT SHH UvaTd Ual
i 3T ggat 8 fertll. Srgdt 21 310 g TR
fegafrafaomaz? UPSC 2021

(a) TRIT - 9 B 45 T HH BT R

(b) IT-JA H 45 T HH HI0T TR

(c) TfRIT - qd B 45 T 31ferek v W
(d) ST -Td H 45 F Afereh BT R

Q 12. TH Sk HHANT 37U T | SFRI0T ST 317 10

fordt. ST TeTet ®, fRT 9 e W SR
et & 31T 20 foredt. T T €1 9 T
3T &S TR gt & 37 40 ferelt. Tt wreardt
%, AT 31aa ard 3k gt € i 5 fewedt, et
AT 2 1 98 T: 37U IS 3 g1 ¢ 37 30
fepeit, TTET TreTTeRT 37U Sk UgRIt €, STl 98
T T 3HS ok 3 SHS =X &F o= &
A g a2 2 UPSC 2021

(a) 200 feret.
(b) 25 T
(c) 30 e
(d) 35 Tt

Q11.

Q12.
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straight 25 metres, then turns to the right and
walks 50 metres again; then he turns towards
left and again walks 25 metres. If his house
faces to the East, what is his direction from

the starting point ? UPSC 2020

(a) South-East
(b) South-West
(¢) North-East
(d) North-West

A woman runs 12 km towards her North,
then 6 km towards her South and then 8 km
towards her East. In which direction is she

from her starting point ? UPSC 2021

(a) An angle less than 45 South of East
(b) An angle less than 45 North of East
(¢) An angle more than 45 South of East
(d) An angle More than 45 North of East

A bank employee drives 10 km towards
South from her house and turns to her left
and drives another 20 km. She again turns
left and drives 40 km, then she turns to her
right and drives for another S km. She again
turns to her right and drives another 30 km
toreach her bank where she works. What is
the shortest distance between her bank and

her house ? UPSC 2021

(@) 20 km
(b) 25km
(¢) 30km
(d) 35km

ANSWER KEY

1. A 2. B 3. B 4.

7. A 8. B 9. D 10.

B

5. B 6.
1. B 12.
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